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Part | - CHILD DEVELOPMENT AND PEDAGOGY
Foen j NkkghL kwWk fwgj jy

1. ‘Mnemonics’ vdgJ cldnjhihGrlaJd.
a. eNkhdjah b. Bl c. .ujjNrhif  d. kwijy
‘Mnemonics’ is related to
a. Pneumonia b. _ c. Anaemia d. Amnesia

2. ,diwa #oyyy Foein jTslk kif Kffijakht , Uff Nt=ba xdW

a. EzzwT b.MSik c.BYAVIOFER d. mDgtk
In the present situation, the children must possess an important factor of

a. intelligence b. personality  c. [flOFalVaIlE  d. experience.

3. ‘Bl lhsif FOg gUtK” vdW miaoffgglLk gutk
a. Foei jggutk

c. Fkug gutk d. eLjjutad gutk
‘Gang age period’ is
a. Infancy PICHIERGEE  c. Adolescence  d. Middle age.
4. turhfrgfs Ghgthilk 3=)rry kwWk kiFed fh=ggLk.
a.ghT b. mdG c.clytyimk

Adventurers have more braveness and

a. sympathy b. love c. physical strength d. mental strength.

5. kdjj kdntOrrad ntsjgghL foffhZk thii ragy mi kAk vd kf "ty
FUJIFwhh.
a. nray - czhT - mwT
b. mwT — #oejliy — clyjaffk
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d. kdntOrrn —» czhT - mwT

McDougall says that the emotional expressions of human being occur in
which of the following sequence?

a. Action — Affection — Cognition

b. Cognition — Environment — Conation

d. Emotion — Affection — Cognition

6. ,Ugglly rvejtwaw Foer JFSTF toqf kd)j ,dk fldglLssJd vd
leh rig y gufldgglL jjiad.
a. 1969 Mf] 1 15 b. 1969 Vguy 20
Cc.1959 [ 1y 16
“It is the duty of mankind to give the best to the children” — UNO proclaimed

it on
a. 1969, August 15 b. 1969, April 20
c. 1959, June 16 d. 1959, November 20.

7. mrR kwwWk kd Clfgfs)y Kdd)rygglL jjggl Nt=bart
a. thofi fad VwWFnfhssT$ba vjhkawahd gFjj

c. thof i fad Nehkaw vjhk swahd gFj)

d. thof 1 fad khorriaww gF ji.

Print media and electronic media must project
a. acceptable negative side of life

c. positive and negative sides of life
d. seamy side of life

8. Mrjhjah fUjJgngho T Kawia mbffb gadgLjJdtjd %yk
a. MFfjjwd b. EZz=zwT c. GydFhlr d. eidT
With the frequent use of brain storming method the teacher develops
a. Creativity bliftelligence c. perception d. Memory

9. yjwdhaTr nejidiaj 3} =LtJ

a.Kd %is b. €tyd %is c. ,1J%is d.gd %is
Critical thinking is induced by
a. fore brain b. right brain c. left brain d. hind brain

10. irdbf ] vdDk Mgfiyr nrhyyid nghUs
a. gyNtW nghUsTtisg ghjjy
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b. gyNEW nghUsFi's xUafii =jjy
c. nghUlfis xgglLjy

d. gyNtW nghUlfis tbtikjjy
The word ‘synatics’ means

a. segregating different things

c. comparing things
d. designing different things

11. jdfFk gwUTFk kfiornAk gaDk i stidw t i fay vyyh eiayfs|Yk
nghUj jgghLld nraygLtJ
a. #oejny rhhejJ b. kdeyk rhhejJ
d: nghUshphuk rhhejJ
Adjusting in all stages and making happiness and usefulness to self and

others is
a. based on environment b. based on mental health
_ d. based on economy
12. Ttdjjid CryhLk jd i kad fhy msT
a. 5— 20 pdhbfs b. 10 — 15 ©ydhbfs
c. 3— 25 wdhbfs d. 7— 10 tdhbfs
Period of fluctuation of attention is
a. 5 - 20 seconds b. 10 - 15 seconds
c. 3 - 25 seconds d. 7 - 10 seconds
13. SQ3R Kawahy NkkgL jjggLtJ
a. frdk b. ehllk c. Cffk dicINcin
SQ3R method enhances
a. attention b. aptitude c. motivation d. memory

14. ,dW jigfs fioik ehis kWehSTF Kein ja fionk
»,Jvej tiftNrhjad?
a. nghd mwT b. Ghied nfhsSjy

c. fzij MaT d. nriwfsQrak

Today is Monday, the day before after tomorrow will be

What type of test is this?

a. General knowledge b. Understanding
c. Mathematical research
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15. xgghh FO vdgJ %yk VwgLfiwJ
a. Mrjhah + flLgghlhd #oy
b. ngwNwhh + Rjejukhd #oy
c. r%oftk + FlLgghlhd #oy

Peer group is formed by
a. Teacher + Controlled environment

b. Parents + Independent environment
c. Society + Controlled environment

16. fwwy #oyly fo csstwWs rhiahd thya r vJ?

b. i dT — Ftdk — Fthrn
c. ftdk —» fthrn - gidT
d. egiadT — Fthrn - ftdk
Which of the following is the correct sequence in learning environment?

b. Memory — Attention — Interest
c. Attention — Interest —» Memory
d. Memory — Interest — Attention

17. eliyay Foei jfshy fUjjffis cUthff ,aYk
b. Ngr MukgijjTld
c. gsisggutjjly d. gisisg gutjjwkFg gd

Children are capable of forming concepts
b. soon after verbalisation

c. during childhood d. after childhood

18. tshrrfs rhh nrayfs vdw TUjJ 1 jJ Kjd Kjyly gadgL j jiath
a. n_ hghhl b. G&dh c. Yy
The concept of developmental task was first used by

a. Herbart b. Bruner c. Hull d. Havighurst

19. vyyh kh=thfSTFk XNu khjihjahd nrayfa st nfhLjjhYk mthfs
NtENEW tjkhfg Ched nthstjwFT fhu=k
a. ghyrdk b. fuwy FiwghL c. mDgtk d. kuG.
Because of the students understand in different ways though they
are given same type of activities.
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a. gender b. learning disability _ d. heredity

20. RTE vdgjd thehffk

b. Right to teacher education
c. Right of children to education
d. Right towards education.

Expansion of RTE is

b. Right to teacher education

c. Right of children to education
d. Right towards education.

Q

21. fhhNgh® — INub Gujk mfiatwwd tshri j khwwj i xOgFgLjJtJ
a. ,drRyid b. i juhfrid c. mihdyid d. Mdnlhrd
Hormone which regulates the carbohydrate and protein metabolism is

a. Insulin b. Thyroxine c. Adrenaline d. Oxytocine

22. ‘mkgh xU ttygF myy’ vdgJd

b. kki fgl nghdakgguljjy
c. Thu=q fwoy gy d. milahsq th=2jy
‘Amoeba is not an animal’, it.is

b. extended generalisation
c. rationalization d. identification

23. gahN[tid FUjJIggb Jjdid i kakhffy rnejfFk jd ik fFh=ggLk
gutk
a. Gyd ,affggutk

c. F=3$B1hFg ghhggi JF nFh=L rejfFk gutk
d. Kiwahd kdrnrayghlL gutk
According to Piaget, Egocentrism occurs in

a. sensory motor stage b. pre-operational stage

C. concrete operational stage d. formal operational stage.

24. kha xy) NjhdwT fhu=k
a. nrg FawghL b. ndk

c. nghwhiik d. ftiy

Reason for auditory hallucination is
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a. auditory defect b. anger
c. jealous d. worry
25. jhoT kdgghd s k Nehma vwgL jJtjy Kffiag ggF tfiffwJ

ERVATSRE b. NjhyNeha c. ehioyT Neha  d. %lILtyy
Inferiority complex plays a vital role in causing the disease

b. Skin disease c. Diabetes d. Joint pain

26. Foei jfsJd rhjadiaghuhlLjy myyJd FiwBWjy vEthW
ghjFFFBLK vdgd gwwF Bwath

a. hyhf b. fhyld c. gahrd d.cl]
‘Praising or criticising affects the success of the child’ is said by
a. Hurlock b. Galton c. Pearson d. Woods

27. tFggy jddhy KbAk vd midjJd Nty T isAKk VwWr nrad kfiogth
a. Nghlbahftf fwgth

c. , 1=zed fwgth d. Rakh®Ff fwgth
Who enjoys in doing all the works in the classroom voluntarily is
a. competitive learner b. participatory learner
C. pair learner d. individual learner
28. fwwy tjk =

a. fowyNjhrnad msT/ fwWjNjhtjwF vLjIF nfh=1 Neuk

c.fw wy Njhrnaxd msT/ ghlg nghUs msT

d.fww ghlg nghUs msT/ fiyj jill msT
Rate of learning =

. Amount of learning profiency achieved
" time taken to achive the amount of learning
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c Amount of learning profiency achieved
' amount of content

d Amount of the content learnet
" Amount of the curriculam

29. gawr; msyfFfggl 1 tshgGg Gwh 1 €t mDgg) NFhty NFhGugfsiy teJd
clthUk fhlLg Gwhffis fowqfr nrad gbjjy
a. Kadw jtwf fuwwy b. cwW NehtHf fuwwy
c. nraygl. MFf giyAWj jk ENNIERCRYANGER
By employing domesticated and trained pigeon, bringing down the wild
pigeons sitting on temple towers is

a. Trial and error learning b. Observation learning
c. Operant conditioning

30. kfiorr juhy I3} =1y kawtgjwF Jygfy fthu=khf , Uggd mJ

a. Nehpa I €YT:11kK bkiwjy
c. Vil €YT:01k d.j=lid
If a response is responsible for the extinction of unpleasant stimuli, it is
a. positive reinforcement b. extinction
c. negative reinforcement d. punishment
TAMIL
31. NehafF kUed , yfflak vdW $Bwath
a. fiyth=h b. kfhtyj Ithd kdhlr Rejudhh
c. Fuk=) d. ghujiyhrd
32. ,uhkhD[d rhjhu= kdjjuyyh mth , iwtd jejg ghR vdf Bwath
b. vbrd.
c. yhhink=ly=1 d. rhhy]
33. th=)ghrd gwej Ch
a. kJiu b. Nfush c. tqfhsk d. tyyaD}H.
34. kJiu tjFsd ngahfsy ,J xdwyy
a. Bytj b. nghdtjj c. kddhtjy d. gh=h tjy.

35. cyi fNa eLgfr nraj nfhLgNfhyuhf ~jlyh ,UejhYk mtiuNa
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kddigGf NFIT nraj khtud

a. Jjhk] Myth vbrd b. rhhy]

c. G.U. Nghg
36. gfNIhah kfhuh=jahh fhiyay f= tjojj jIk Kjyiy gbtFk E}y

a. iggs b. JJUFFws. c. jluthrfk d. Nkhl'rga=k
37. kiyAk kiyr rhhej , IKk

a. Kyiy b. kUjk c. neajy d. FwQry.
38. vOjJIffs)d gwgig , lggwgG vd , Ut §fahfg ghffyhk

a. xXyiggwgG b.

c. ehgwgG d. m==ggwgG

39. jkio v=ZUTfFis vOJT. 19 25:

a. fm b. FEECY c.cc d. Ff

40. GITfoOij tshrrnay gqF Nghwwj JFfJ
a. tyyiffz=d b. ghujrahh.
c. ittuKjJ d. Rujh

41. ghkG werhafsid
a. gi ftd b. e=gd. c. cwtdd d. rNfhjud

42. Foe i jfs kfiorrfAld MuthhjjJg ghLk thasahlLg ghlyfs
a. jhyhlLg ghlyfs b. toghlLg ghlyfs
c. njhoy ghlyfs

43. MwW=h vdgjd nghUs

a. Mwac=T b.eyyc=T
c. FILrNrhw. d. rikjj c=T
44. JhBhd tRtghuj) FyYih kheyyj jiy cssJ
a. F[Luhj
c. m] Jhk d. gfhh

45. gddu=L tajiNyNa kwNghh> nykgk> ths trR vd
tuffiyfisnayyhk fwWj NjhejiUej nwed
a. gh=ba neLQnroad :
c. tuggh=Dbad d. , katukgd
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46. JQErg nghla Nfhayy FIKOTF es Ingw M=L
a. fi.g. 1010 b. f.g. 1500.
c. f1.g1. 1020 d. .91 2000

47. nghUs $SWT. Fit
a. Bk bEEeY c. Fkgy  d.NfhhjJ

48. eff z L Ts)y goi kahdJ vJ?
o. IECHCINIEREIR  b. k=1yculn

c. mfuhjy d. rJufuhj)
49. mwtjay Fryrnrhy fsQnak M=L ntsalggllJd
a. 1993 b. 1991 c. 1990 d. 1992

50. MgfiNyairu vjihyJ MAjk Vejig Nghuhba Kyyh ng=k=)
b. mQr i yakkhs.
c. mkGLjjkkhs d. 1 €K Nfhijehaf) mkkhs

51. ntsthy kuj jiy
a. njhqFk b. cwgFk c. MLk  d. ,UfFk

52. NFhbll , 1jij eugGF:

Tuk=)NjrfF tehafk gsis , aww E}ly

a. gh=Dbad ghR b. ghggh ghlL

c. FLkg tisTF
53. vOjjhsh njhlL vOjFSBIhj ik

a. nguik c. Jjark d.c=ik

54, vdDk Elyiy njh=ZwW xdgJ tifahd Gffsid ngahfs ,Uejd.
a. KymygghlL
c. glbdgghiy d. ggwWggjJ

55.gwatfis tifahtg ghffyhk
alies b. MW c. %dW d. viL

56. eNtjdk vdw nrhyyid nghUs
a.czT b. "\WRIitc=T
c.ey c=T d. gilaKJ.
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57. fdTk vdgjd nghUs

a. nrytk b. nghd. c. k=) d. KjJ
58. khd tg[ak vdDk ehlfk vdDk ,yffiajij mbggulahff
nfh=1J
a. fhh ehwgJ b. fstoj ehwgJ
c. mfehD}W d. GwehD}W
59. jkio ehlfj Jenj vdW , dwsTk cyftk Nghww) €= gFgth
a. gkky rkgejdhh b. gILNFI & |
c. rgfujhr Rthkfs d. nj.ngh. iU— =rhk;

60. fhafs)d , sk kuG ngasu vLjJ vOJIT.
mtiug GGQR> thio

a. G b. fha EFFERY  d. %R

PART 1l = LANGUAGE PAPER
ENGLISH
61.Find the italicized part in the sentence that is incorrect:
In some Countries in Europe teachers are allowed giving children
1 2 3
some home work only at weekends
4

a. 1 b. 2 c.3 d. 4

62. Choose the correct form of the verb to complete the sentence:
When this morning?

a. did you woke up b. did you wake up

c. have you woken up d. were you woke up

63.Choose the correct answer form of the verb to complete the sentence:
We volleyball yesterday
b. have played
c. had played d. have been playing

64. Choose the correct word to complete the sentence:
There is very petrol in the car. I'll buy some when | go out.
a. few b. much c. a little
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65. Choose the correct word to complete the sentence:
He apologized being late
a. to b. for c. on d. of

Read the passage given below and choose the best answer for each of the
questions

Most human beings are awake during the day.and sleep at night. Owls

live the opposite way. Owls are nocturnal. This means that they sleep all
day

and stay awake at night. Because owls are nocturnal, this means they must
eat

at night. But finding food in the dark is difficult. To help them, they have a
special eyes and ears.

Owls have very large eyes. These eyes absorb more light than normal.
Since there is little light during the night. It is helpful to be able to absorb
more
of it. This helps owls find food in the dark

Owls also have very good hearing. Even when owls are in the trees, they
can hear small animals moving in the grass below. This helps owls catch
their
prey even when it is very dark.

Like owls, mice are also nocturnal animals. Mice have an excellent sense
of smell: This helps them find food in the dark.

Being nocturnal helps mice to hide from many different animals that
want to eat them. Most of the birds, snacks and lizards that like to eat mice
sleep at night — except, of course, owls!

66. The word ‘diurnal’ is the opposite of the word ‘nocturnal’. Using
information
in the passage, we can understand that an animal that is ‘diurnal’
a. sleeps at night and is awake during the day
b. hunts during the day and is awake at night
c. sleeps every other night and is awake during the day
d. hunts at night and sleeps during the day

67. Based on information in Paragraph 2, it can be understood that an animal
with
small eyes
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a. must be diurnal b. has trouble seeing in the dark

c. can see very well at night d. must be nocturnal

68. According to the passage, owls can find food in the dark using their sense
of

a. sight only b. sight and sound

c. sight, sound and smell d. sight and smell

69.In paragraph 3 the author writes. “This helps owls catch their prey even
when
it is very dark”. What is prey?
a. A noise that an animal makes during the night
b. A small animal such as a pet dog or cat

c. An animal that is hunted by other animals

d. An enemy

70. According to the passage, mice sleep during the day in order to
a. find food that other animal cannot
b. keep themselves safe
c. store energy for night time activities
d. stay awake at night

71. Using the information in the last paragraph, it can be understood that
a. owls hunt mice
b. mice can hide from owls
c. mice and owls both hide from birds, snakes and lizards
d. owls sleep at night

72. Which of the following conclusions would work best at the end of this

passage?

a. The owl is a nocturnal animal. This means it is active at night. The owl’s
excellent sense of sight and sound enables it to find food in the dark.

b. Mice are nocturnal animals. This means they are active at night. Similar
to the owl. Mice use their excellent sense of smell to find food in the dark

c. Some animals are nocturnal. This means they are active at night.

the

~ owl and the mouse are good examples of animals but the use their

~ senses to find food in the dark

d. The owl and the mouse sleep during the day and stay awake at night
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73.Choose the right question to get italicized part as the answer
The Children are sitting in the garden
a. Where do children sit?
b. Where have the children been sitting?
c. Where are the children sitting?

d. Where are they sitting?

74.Find out the pronounced differently from the others
I. blood

Il. moon
I11. soon
IV. mood

al b. Il c. div

75.Find the word that is pronounced differently from the others
I. bear

Il. dare
1. fare
IV. dear

a. | b. Il c. d. v

76.Find the word that is pronounced differently from the others
I. enjoyed
Il. jumped
I11. died
IV. filled

a.l b. 1l c. d. Iv

77.Find the italicized part in the sentence that is incorrect
It is a well idea to encourage boys to learn to cook
1 2 3 4

a. 1 b. 2 c.3 d. 4

78.Choose the word which has almost the same meaning as the italicized one
| help them to assemble the different parts
a. manufacture b. store c. check d. fit

79.Choose the correct antonym for the italicized word
Travelling is considered very dangerous
a. harmful b. peaceful - d. exciting
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80.Choose the correct antonym for the italicized word
This is a common thing

a. strange b. funny c. real d. special

81.Read the short conservation given below. Identify the language function in
the
italicized sentence
Shrimathy :That remark was uncalled for
Venu:I'm Sorry. | shouldn't have said it
b. wishing c. blaming d. forgiving

82.Read the short conservation given below. Identify the language function in
the

italicized sentence

Arun:What shall we do this weekend?

Sheela:Why don’t we go on a picnic?

a. welcoming b. inviting _ d.

advising

83.Choose the correct question tag
Mary has answered all the questions .................7

a. doen’t she b. didn't she c. wasn't she d. hasn’t she

84.Choose the correct question tag
Hanif wasn't listening ............. ?

a. was he b. has he c. did he d. isn't he

85.Choose the right question to get the italicized part as the answer
Hari is writing a letter

a. What does Hari write? b. What is Hari writing?

c. Who is writing a letter? d. What is Hari doing?

86.Choose the correct word to complete the sentence
We are satisfied ........... our son’s progress this term
a. for b. on c. about

87.Which of the following is a form of the verb ‘be’?
a. may b. am c. can d. will
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88.The passive form of the sentence ‘The Blue team won the game’ is
a. The game is won by the blue team
b. The game has been won by the blue team
c. The game had been won by the blue team
d.

89.The reported form of the question Renu said to me, “Is the movie interesting
-

is

a. Renu asked me if the movie was interesting

b. Renu asked me if the movie has been interesting

c. Renu asked me if the movie is interesting

d. Renu asked me if the movie had been interesting

90.Choose the word which has almost the same meaning as the italicized one
She seldom goes to conference

a. nearly b. rarely c. slightly d. incredibly
PART IV

gk - 1Iv
MATHEMATICS

91. XU Fshrhjdgnglbayd kd 9% twgid th tjk twgid th &.1>170 vdyy mjd

miffgiy

a.&.10°530 b.&.12960 ¢.&.13:000 d.&.20:000

The sales tax on a refrigerator at the rate of 9% is Rs.1,170, then the actual sale price is
a. Rs.10,530 b. Rs.12,960 c. Rs.13,000 d. Rs.20,000

92, uhKtyd jwNghid Ja tad mtUi la jei jad tajly ghjjahFkgjinded M=LTFSTF
KdG jei jad tajhdJ uhKtyd tai jgNghy Kkklgfhf ,UejJd vdyy mthfsid
JwNghi ja taJd
a.42, 84 b. 24, 84 c. 40, 80 d. 24, 48
Ramu is now half as old as his father. Fifteen years ago the father’'s age was three
times as old as Ramu. Then their present ages are

SUCCESS ACADEMY
Page 15



www.kalvisolai.com

a.42, 84 b. 24, 84 c. 40, 80 d. 24, 48
il vITKk nghUejtiyiy

93. <Jth xtnthU khjj JtffjjiYk &350 I Xh mQryfjjiy 6 M=zLFSTF nr{
tejhs’ Kbtgyy mts &.32865 ngwhs. fis 1jj tlb tjk
a.6% b. 10% c. 15% d. 8%
Easwari deposited Rs.350 per month for 6 years in a recurring deposit account
in a post office. If she received Rs.32,865, then the rate of interest is
a.6% b. 10% c. 15% d. 8%

94. xU cUisad Muk kwwk cauj jid ©hjk 5: 7. NkYk mjd fdmsT 4400 f.nr.k
vd)yy mtTU i sad Muk
a.- b.25 nr.k c.15 nr.k d.20 nr.k
The radius and height of a cylinder are in the ration 5 : 7. If its volume is 440 cu. cm then the
radius of the cylinder is
b. 25 cm c.15cm d. 20 cm

95. 21 nrkgfFfFmsTilaABCD vdw rJuj jid ejoyilggl 1l gF jjasd guggsT

a.140 nr.k? b.256 nr.k? c.252 nr.k? d.272 nr.k2
Find the area of the shaded portions in the figure, where ABCD is a square of side 21 cm.
a. 140 cm? b. 256 cm® c. 252 cm® d. 272 cm?

96. XU KfNfh=]j jid %dW Nfh=qgfsid ,Urkntlbfs rejifFk Gss)
MkKENfh=jj)d

a.RwW €11 i kak b.nrgNFhiL ikak ceLfNFhIL ikak diCSEIINNKAK
The three angle bisectors of a triangle are concurrent and the point of concurrence is called the
a. circumcentre b. orthocenter c.centroid _
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97. ri, r2 1 Mugfshff nfth=1 ,U tllgfs clGwkhf njhLkhdhy tll 1 kaqfSTF
, 1 INa css JjukhdJ ------------- rkkhdJ
a.r+r b. 2r; C. 2r; -
If two circles of radii r; and r, touch internally, the distance between their centres is equal to
a.r+r b. 2r; C. 2r;

98. A, B,Cvdgthfs xUNtiyia KiwNa 12 15 20 ehlfs)y Kbgghhfs. , k%tUkK
Nrhed xU Ntiy nrajdh. gd B tyyf) yLfiwhh vdiyy A,C , UtUKk kjKss Ntiyia
Kbff vLfFk ehlfs vjjid?
a8 ehlfs b.7 ehlfs c9.ehlfs d.6 ehlfs
A, B and C can do a work in 12, 15 and 20 days respectively. They all work forone day. Then B
leaves the group. In how many days will A and C complete the rest of the work?

b. 7 days c. 9 days d. 6 days

99. xU rhrefjjid gugG 33.32 nr.k? kwwk mjd xU gFf msT 8 nr.k. cauk 5.6 nr.k vdy
kwnwhU gFf msT

a.l1.9 nrk b- c.89 nrk d.59 nrk

Area of a trapezium is 33.32 cm2. Its one side is 8 cm and height 5.6 cm, then the another side
is

a.11.9cm - c.8.9cm d.5.9cm

100.17, 15, 9, 13, 24, 7, 12, 21, 10, 24 vdw Gss| ytugqfs)d KfL kwWk , i lejiyasT
=L mtwwd ruhrh KjgG

a.21 b. 24 c. 19 d. 14

The mean of the mode and median of the following datal7, 15, 9, 13, 24, 7,12, 21, 10, 24 is

a.21 b. 24 c. 19 d. 14

101.x-y =6, xy =4 vdy x3-y3d kjigG

a. 272 b. - 288 c. 248 d. 288
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If Xx -y =6 and xy = 4 then the value of x3 -y3 is

a. 272 b. - 288 c. 248 d. 288

102.x3 - 3x2 - x + 3 vdw gyYWgGF NFhi tad xU fhu=) (x + 1) vdlyy mjd kww Fhu=ifs

a (x-1), (x-3) b.(x-1), (x+2) c.(x+1)(x+3) dix+1),(x=3)
If one of the factors of the expression x3 — 3x2 — x + 3 is (x +-1), then the other factors
are

a. (NS b.(x-1), x+2) c.(x+1)x*3) d.(x+1),(x-3)

103. ,Uv=Ffs 5: 3 vdw tfij j Jiy cssd. mtwwd NtWghL 18 vdlyy mtnt=Ffs

a42, 57 b. 54, 72 c. 45, 27 d. 47, 52

Two numbers are in the ratio 5 : 3. If they differ by 18, then what are the numbers?
a. 42, 57 b. 54, 72 c. 45, 27 d. 47, 52

104.3a2 bc, 5 ab2 ¢, 7 abc?2 d k.ingh.k vdgJ

a. 35 a2 bc2 b. _ c.15 a2 b2 c2 d. 105 abc

The LCM of 3a2 bc, 5 ab2 ¢, 7 abc2 is

a. 35 a2 bc2 b. _ c.15 a2 b2 c2 d. 105 abc

105.11 Ngdhffsid miffgiy 10 Ngdhffsid tww ©iyfF rkk vdyy ,yhg rjtjk

a. 10% b. 100% c. 11% d. 21%
The cost price of 11 pens is equal to the selling price of 10 pens.The profit percent is
b. 100% c.11% d. 21%

106.muu thl thtyyhd gqfhttd Muk 14 k XU KITUFF &. 8 £tk mjwF RWWNty)
mi kfF MFk nryT

a.Rs.576 b. Rs.657 c. Rs.756 d. Rs.765

A park is in the shape of semicircle with radius 14 m. The cost of fencing it at the cost
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of Rs.8 per metre is
a. Rs.576 b. Rs.657 c. Rs.756 d. Rs.765

107. uhFy &.5000 I M=L 8% vsija thb tjjjiy 1 tgGejiahf nryYjJdfiwhh.vjjid
tUlgfsyy &.5800 I mth ngWthh?
a.3 tulgfsyy _ c4 tUlgfsy d.5 tUlgfsy
Rahul invested Rs.5,000 at the rate of 8% simple interest per annum. Hereceived
Rs.5,800 after some years. The number of years is

a. 3 years _ Cc. 4 years d. 5 years

108.100 kh=thfs|d kjigng=Tfs ruhrh 40 vdW f=¥flgghlJ. gdG 53 vdw kjigng=
83 vdW jtWjyhf vLFfFfggl1J njhatejJd. rhjahd Kjigng=fi st nfth=L rhahd
ruhrhy
a.39.7 b. 37.9 €. 29.7 d. 27.9
The mean mark of 100 students was found to be 40. Later on, it was found that
a score of 53 was misread as 83. The correct mean corresponding to the correct
score is

a.39.7 b. 37.9 c. 29.7 d. 27.9

109.5 v=Tfsid ruhrh 32. mtnt=fs)y xd iw efFkNghJ ruhrhay 4 Fiwejhy effggll
v=
a. 84 b. 42 c. 48 d. 24
The mean of the 5. numbers is 32. If one of the numbers is excluded, then the mean is
reduced by 4. The excluded number is

a 84 b. 42 c. 48 d. 24

110. nretf tbhtKss XU Njhlljjid msTfs 30 k x 20 KNghlLj i Jr Rww ntsigewj jiy
15 k. mFfyj iy xU ruhd ghi j rJukl IUFF &.6 €tjk mikFfggLfiwd vdyy mjd
nkhjj nryT

a.&.495 b. &754 C. &.854 d. &.954
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A garden is in the form of a rectangle of dimension 30 m x 20 m. A path of width 1.5
m is laid all around the garden on the outside at the rate of Rs.6 per sq.m. What is the
total expense?

a. Rs.495 b. Rs.754 c. Rs. 854 d. Rs. 954

111. RUFFEF: 23/40 + 33/625 — 43/320

a. 1632 b.5%/3 - d. 334
simplify: 23/40 +33/625 — 43/320
a. 1632 b.5%/3 - d. 334

112. xU tlljjiy Gssj Ay tiuvaggbk nyhLNFhL DE, AB tlljjid eh= NkYk ZBAC =
65° kwWk «BAE = 58° vdW m i kAkhW tl1jjid Nky css Gss)C vdyy Z/ABC d
K9G
a.180° b, 90° c.57° d. 123°

113.42 nrk MuKss xU tlljjiyiUed 240° i kafNfh=k nfh=1 xU
tiIfNfh=ggFjiia ntlb vLj I mjd Muqfis xdwi = jJ xU SkghFfidhy
fii 1 FFk $kgd tisgugG
a.4624 nrk? PISEOEIERY  c.6369nrk? d. 6639 nr.k
A sector containing.an-angle of 240° is cut off from a circle of radius 42 cm and folded into a
cone, then the curved surface area of the cone is

a. 4624 cm? b. 3696 cm? ¢.6369 cm® d. 6639 cm?

114.8 M=Ts xU Ntiyia ehnshdWfF 9 k=) Neuk Nt iy nraJd 28 ehl fs)y Kbggh.
mMNj Ntiyia l2 M=fs ehnnshdWFF 7 k=) Neuk Ntiy nrajhy> vjjid ehlfs)y
mtNt iy ia Kbggh?

a. 20 ehlfs b. 18 ehl fs c.28 ehlfs d. 24 ehlfs
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Eight men working 9 hours a day can do a piece of work in 28 days. In how many days will 12
men working for 7 hours a day do the same work?

a. 20 days b. 18 days c. 28 days _

115.100 ms i tfs)y kifgngha kjigG 3.84 1. ) kwWwk mtwwd trR 2.46 fi.f). vd)y mt
ms 1 tfsyy krrnW kjigé
a. 1.38 . b. 3.38 i.F c. 2.38 . d. 6.30 fi. i
The largest of 100 measurements is 3.84 kg. If the range is 2.46 kg, then the smallest
measurement is

a. 1.38 kg b. 3.38 kg c..2.38 kg d. 6.30 kg

116.xU KfNfh=]j jid %dW NfFh=qfsid thjgfs2:4:6 vdly mjd NFh= msTfs
a.30°, 60°, 90° b. 20°,70%,.90° - c. 40°, 60°, 80° d. 26°, 58°, 96°
The measures of the angles of a triangle are.in the ratio 2 : 4 : 6, then the angles of the triangle
are
a. 30°, 60°, 90° b. 20°,70°,90° . 40°, 60°, 80° d. 26°, 58°, 96°

117. X:2+\/§vdpy x* —izd K jigG
X

a.l4 - c.4\/§ d.o

If x = 2++/3 , then the value of x> _ 1 is

X2

a. 14 - C. 4\/§ d.o
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118. ,U , IgfSTF , 1 INaAss njhayT 61§fp.k. xU ,U rffu thfdk mej njhayntf

flff61§ k=) Neuk vL JIfnTthstiwd vdyy , U rffu thfdj jid Ntfk

a. 25 fik b. 40 fik c. 35 fik d. 20 fik

The distance between two places is 61E km. If a two wheeler takes 61% hours to cross the

distance, then what is the speed of the two wheeler?

a. 25 km b. 40 km c.35km . d.20km

119.1, 2, 5, 6, 14, 24, 30, 120, ....... vdw njhihd mLjj v=
a 91 b. 55 c. 720 d., twWs vITky iy
The next number of the sequence 1, 2, 5, 6, 14, 24, 30, 120, ........
a. 91 - c. 720 d. None of these

120. ﬂ+Z+ E—E foF rkkhdJ
5 2 (2 4) 8

12 3 5
a. 20 b. 20 d. 20

7 (5 3).7.
—+—+| ——— X=is equal to
2 4) 8
1.2 3> 525
a. 20 b. 20 d. 20

Part V — Environmental Studies

121. Marconi invented the radio with the help of the invention made by
a. Vikram A. Sarabhai b.
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c. Charles Babbage d. Pascal
TfoffhZk xUthd f=Lgbggd cjtiNahL khhNfhd; NubNahs t
f=Lgbjjhh
a. tfuk A. rhuhgha b. n[Fj] reju Ngh]
c. rhhy ] ghghL d. gh ] fy
122. Identify the wrong pair with reference to milching animals
a. Gir, Sindhi b. Jersey, Caronswiss
c. Gir, Murrah d. Sindhi, Jersey
gdtUk fwit khL , s =Tfs)y jtwhd , 1 = vJ?
a. fir rnej b. n[h fhud ]t}
c. fiv Kuh d. rejp n[hry

123. A typical example of visual, non project 3 -D aid is

a. b. Television
c. OHP d. Radio
T=ZW> toj jh Kgghkh= cgfu=jjwF vLjIffhiL
a. e;[gglk b. njhiiyFfhlr
c. Nkygl tojJ (OHP) d. NubNah
124. Which of the following is the odd criterion of a good test
a. Objectivity b. Acceptability
c. Reliability d. Clarity

XU eyy NJhTFE_, yyh fhu=jaa mu lahsk fh=T.
b. VwvWWFnfthsSjy
c.czik jdik d. vsimk

125. The philosophy behind the project method is

a. naturalism b. idealism

c. constructivism d. Pragmatism

nrayjill KrwaYss jjJtk

a. jawi f nfhsift b. fUjjiay nfthsif

c. cUthfFk nfhsi f d.

126. Melagiri hills is situated in the district of

a. Krishnagiri b. Erode  c. Dindigul d. Coimbatore
Nky Ty k iy fNo Fwggill I vej khtlljjiy mikedssJ?
a. b. <NuhL
c. jji=zLFffy d. NFhakGjJ}h
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127. Mamallapuram and chengalpattu are famous for which work

a. Weaving of silk b. Soap stone carving

c. Red and black pottery d.

khkyyGuKk> nrqfyglLk foffhZk fiyfs)yy vjwF GFongww i €?
a.glL nerT

b. NrhgG fy nrJfFjy
c. TUQG kwWk nreew klgh=1k nrajy
d.

128. A student after receiving the content of a subject,.is able to.analyse the
content. The behavioural change belongs to the domain/s

a. cognitive and affective b. cognitive only

c. affective and psychomotor d. affective only

ghlgnghU i s Ghiednth=1gd kh=€d ghlj 1 j gFjjhaT nraaKbftiwJ?
.ejeljij

khwwk Fwiffiw gFj)

a. mwjy gFj) kwwk c=hrr)gFjj

b. mwmjy gFj) kILk

c. czhrn gFj; kwwk Kawr) rhh gFj)
d. cz=hrngFj) klLk

129. “Lesson plan is the outline of the important points of a lesson arranged in
order in-which they are to be presented to the students by the teacher”.
This
definition is of
a. International Dictionary of Education
b. Lester B. Stands
c. W. M. Ryburn
d. Bining and Bining
ghljjil 1k vdgJd xU ghl j jid Kffiakhd FwgGFis thiarggljj!
kh=zthfSfF Mrhah vLjJ nryYK Kiw’. ,ttiusaitwmsjjjJ

a. fyg cyf mfuhjj b.nyJ1hB. J1h=17]
c. W.M. mughd d. gddig m=L gddiq
130. Which chart is used to present the growth of a family right from their
ancestors
a. Flowchart b. Tablechart
C. _ d. Timechart

FLkg rejj) tshrrnasd mthfsid KdNdhhfsyy , Ued njhaggl jJk
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tiruglk
a. NghfF tiuglk b.mllti= tiuglk
c. fiis tiuglk d. fhy tiuglk
131. A child is suffering from bleeding gums and loosening of teeth. The names
of
the disease and the vitamin that is deficient are
a. Scurvy, Vitamin C b. Haemorrhage, Vitamin K
c. Rickets, Vitamin D d. Pellagra, Vitamin Bs

Foenjfs)y VwgLk <Wfs)y ,ujjk tbjy kwWk gy tiOj Y TF
fhu=khd i tllkd gwhfFiw Neha

a. ]fhtp itllkd C b. ~kNuJ> itllkd K

c. hfFnFl P atllkd D d: ngyyfuh 1 tllkd Bs;
132. The part where cones are densely packed within the right eye is

a. sclerotic coat b. choroid coat

c. lens d. fovea

tyJd f=z=)d vggFjiaty K6 nryFfs mihjjaht fh=ggL fiwJ?

a. JfisiNuhibf ciw b. Nfhuhal caw

c. nyd] d. Nghiah
133. A student of IVth class placed certain things in a first aid box. Find the
odd

man out
a. foreceps b. sodium chloride
c. syringe d. pair of scissors

ehdfhk €tFgG gbfFk kh=t KjYjtig nglbayy fofhZk nghUlfis
1tjIsshd. gy jtwhdJd v3?

a. ,LTh

b. Nrhbak FNshrulL

c. Cr%yk kUeJd clnrYjJk f==hb Foy

d. £ jivENFhy

134. The plant that has the best air purifying capacity in the world is

a: valisneria b.
C. palm d. jatropha
cyfhYss jhtugfsy kifj gwkgl fhwiw Rj JifhnfFFk jdikAr la
Jhtuk vJ?
a. thyyJehah b. %qfiy
c.gid d. [INuhgh
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135. A man is riding a bicycle. The motion(s) observed is(are)
a. only linear motion b. only circular motion
c. oscillatory and circular motions  d.
xU kdjjd §rffisyy rthh nraAk nghOJ foffhZk , affk (gfs)

nraygLfiwJ(Hdwd)?
a. NehNFhIL ,affFk kILk b. €1l ,affk kILKk

c. miyT kuWk €11, affk d. NehNFhIL kwwk €11, affk

136. The permanent employee of the village Panchayat is the
a. President of the Panchayat
b. Vice President of the Panchayat
c. senior most citizen of the Panchayat
d. Secretary of the Panchayat
Tiuhk gQrhaj Jiy euejkhd g=jahsh
a. fuhk gQrhajJ jayth
b. fiuhk gQrhajJd Ji= jJiyth
c. gQrhajjid %jj Fbkfd
d.

137. If a person wants to cross the road where there is no zebra - cross, he has
to
a. look to his right and cross the road
b. first look to his right, then left and then right again and cross the road
c. look to his left and cross the road
d. first look to his right, then left and cross the road.
‘“thiFjiau FIFFk ghij’ ,yyhj ., 1JJiy xUth rhiyia FITFkNghJd
ftdff N\t=baJd
a. tyd gffk ghhjJd rhayia FITFNt=Lk
b. Kjyiy tyJdgffk ghhj I gd , 1J gffk ghhJ I mjd gd k=Lk
tyJdgffkghhjJd rhiyia FIFFNt=Lk
c. 5 lggffk ghhjJd rhayiaf FIFFNt=Lk
d.

138. The wheel (chakra) on our National flag has the colour and the number of
spokes respectively are
b. Royal blue, 24

c. Peacock blue, 22 d. Cyan, 22
ekJ Njnafnfthbayy mNrhth rffujJiy css ewKk mrrffuj jiy
Ccss
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Muqgfs)d v==)F1 TAk KiwNa

a. mlh eyko 24 b. uhay eyk> 24
c. kayNjhi f eyk> 22 d. rahd> 22
139. Bow and arrow was the emblem of which kingdom
a. Cholas b. Chalukyas
c. Cheras d. Pandyas
tyYk mkGk vej murU i la nddgfsht tisgfiad?
a. Nrhohfs b. rhSfhahfs
c. Nruhfs d. gh=bahfs
140. The traveler who came to India through the Kashmir valley during the
reign
of Harshavardhana was
a. Fa - Hien b. _
c. Ibn Batuta d. Megasthenes

— h—h fhyj jiy fh—kh gssjjhfF toahf ,ejja ehlbwF tej
ntsehlL ga=)

a. gh ~jahd b. REREIRERG c. .9d gJ}jjh d. nkF1jdrl

141. Double fertilization occurs only in
a. salamander b. fresh water fishes
c. all seed producing flowers d. aquatic plants
;ulml FUTW3Yy , Jiy KILK fFh=ggLfwJ
a. rhykh=1h b. eddh kdfs

c. WVIERTRSIEUEIFERIGERS o. chi ihtuos

142. The importance of the year 1983 with reference to wildlife is

a. Indian Board for wildlife was formed

b. National wildlife Action plan was introduced

c. Wildlife Protection Act came into force

d. Establishment of National Parks by the Government of India
tdcahdgfis nghwWjJ 1983k M=L KffilajJdtk thaejJ. Vvhnddy
a. tdcahd ghJdfhgG thhak cUthdJ
b.

c. tdcahd ghdfthgG rilk en IKiwfF tejJ

d. ,eja murhy Njna Gqgfhffs cUthffggllJd

143. The exotic variety of honeybee is
a. Apis dorsata b. Apis florae
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c. Apis indica d. Apis adamsoni
> JIy vJ ntsehlL Njd ti f?

a. Vg ] NIhhrilh b. Vg ] GNshhiNa
c. Vg ] ,=bth d.

144. Which one of the following is not true in respect of water
a. Water in the aquifers is not useful to human beings
b. Most of the fresh water reaches to the ocean through rivers

c. The moisture in the soil indicates the presence of water
d. Precipitation in the form of rain or snow provides fresh water to our
earth.
gdtUk SwWFs)y> eiu gwwa jtwhd $SwWw v3?
a. ehCwWfsjYss eh kd)DfF gadgLtjiyiy
b. MWfs)d %ykhf eddh FIYIld fyffwJd

d. ksongho T myyJ gdingho T %ykht eyyjjwF eddh tejn 1fwJ
145. While burning the fuels the pollutant that reacts with Hemoglobin and

makes
the man leading to death is

a. SOz b. O3 c. CO d. CHa

vhinghU 1 svhiggj d%ykhfntsjal.fidw khRkdj
>,Ujjillyss NkhFNshGyiDId tii dGHed ,wgG VwgL fiwJ
a. SOz b. O3 c. CO d. CHa

146. Identify the correct match in respect of major plates and smaller plates of
pangaca respectively

a. Antarctica-North America

b. South America-Africa

c. Australian-Arabian

d. Eurasia-Pacific
ghghahtid ngha jJILTfs kwWk rnwa jILTs rhahf nghUejiAssi j
NjhT

a. m= Ihhbth- €1 mnkhffh

b. nyd mnkhffh- MggihyFfh

c. M} jNuyah- mugiffly

147. Equal day and equal night happen on which of the following days
a. b. May 18th, December 20tn
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c. January 14+, June 16w d. June 20th, December 28tn

»UTKk gFYk XNu ejiyary VwgLk ehlfs

a. khhr 21 nrglkgh 23 b. Nk 18 brkgh 20

c. [dth 14 [d 16 d. [_d 20> brkgh 28
148. The trees that are found in the forests where there is 100 cm of rainfall
are

a. cedar and oak b. sal and teak

c. pine and walnut d. babul and palmyra

100 nr.k kio ngaAk fhLTfs)Yss kugfs?

a. nlhh kwWk x¥ b. rhy kwWk NjfF

c. 1gd kwWk thyel d. ghGty kwWk gid
149. The metal, first used by human beings and the Indian State where it is
found

in plenty are

a. Iron, Orissa b. Copper, Andhra Pradesh

c. Iron, Madhya Pradesh

kdjjdhy KjdKjyy gadglLjjggl 1 cNyhfk kwwk , J mjiFkhf
CcsSs , ejla kheyyk

a. , UkG xhyrh b. nrk&® Meju guNjrk

c. , UkG kjjia guNjrk

150. As per which Article, the president of India is empowered to declare

financial

emergency

a. Article 352 b. Article 356

c. Article 360 d. Article 63

-ej rujdgb ,egia [dhjigj ey neUFfFbays d mkyglL jj mjrfhuk

gailjjth?

a. rujJ 352 b. rujJ 356 c. rujJ 360 d. rujJ 63
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mIff tiy = 13000

choice :

92. ,lhKtid jwNghija taJd x kwWk
jenjad jwNghija tad y vdf

y
X===y=2X

5 y
15 MzLFSTF Kddu
y —15=3(x-15)
2x—15=3x-45
Xx=30&Yy =060
Choice wrong

93. KjuTjnjhi ¥ A=328

n =6x12 =72
nryYjjggll n

M) _ 1 T2XTI3 519

2 12 2

nrh = 4400

_ 4400x5 1000

fdmsT =44007r? % =4400 = r®
S.r=10

choice : a

95.  rJujjid gugG =21x21 =441 nrk*
eoyill gFjiasd gugG =
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choice: C

96. cstll ikak (d)
choice: D

97.

ikaqfsSfTtF , ilgglInjhiyT=ry—-r;
choice: d

98. Anraj Ntiyad gFj =é

Bnraj Ntiyad gFjp:%
. _ . 1
Cnraj Ntiyad gFj =2—0

%tUK Nrued xU ehs
nraj \tiyad msT

1 1 1

=t —4—

12 15 20
_5+4+3_12

60 60

12 48
kiKss Nti =]1-—=—
J Y 60 60

AkwWk C Nrued nraAk

Ntiyad gFj| :i+i:i

12 20 60
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98.

99.

100.

101.

SUCCESS ACADEMY

NtiyKbAk ehlfs

5
_\60/_48 60 g
8] 60 8

60

choice : d|

rutfjjid gugG = %h(a +b) =33.32

b 2x33.32 _ 2x33.32 119
h 5.6

b=11.9-a=11.9-8=39

choice: b

kjigGfis VW tuirayy mikff
7,9,10,12,13,15,17,21,24 ,24

- 13+15

,ilegly 3 =14

KfL =24

14+ 24

s 1leiy kwwk KfLfsid ruhru= =19

choice: C
x> -y =(x—y)* +3xy(x-y)

— (6)° +3(4)(6) = 216 + 72 = 288

choice : d

x* —3x* —x+3=x*(x-3)-1(x-3)
=(X* -D(x-3) = (x-D(x+D(x-3)

www.kalvisolai.com

(x+1) xU fuz) vdiy kjKss fhuzifs (x-1)(x-3)

choice : a
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102.
X_5 .Y
y 3 3
X—y=18
oy
?_yzlg vd\Nt vzfs 27,45
Sy-3y=54
2y =54=y=27
X=27+18=45
choice: C
103.

LCM =105a%b?c?
choice: b

104. tww iy x vdf
10 Ngdhffsd twwtyiy =10x
1INgdhffsid mIff iy =10x
,Yhgk =11x —10x=xX
,yhg ritjk ——x100=10
10x

choice : a

105.© Ggfhtd RwwsT = (7 +2)r

- (2+ 2]x14 - (22 +14]14
7 7

=72

nrythFk njhat =72x8 =576
choice : a

106. tlb =5800— 5000 = 800
PNM _ g0g oy 800X100

> N=—— =
100 5000x8

choice: b

SUCCESS ACADEMY
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107.

108.

109.

110.

111

SUCCESS ACADEMY

Jtwhd ruhruy =40
Jtwhd $Ljy =100 x40 =4000
ruahd $LJy = 4000 - 83+53 =3970

ruahd ruhruy = % =39.7

choice : a

svzfsd $Ljy =5x 32 =160

4 vzfsd $Ljy =4(32-4)=112
effggll v=z =160-112 =48
choice: C

ghi jad gugG =(I +2w )(b +2w )=1b
= 33x23 — 30x20
=759 — 600 =159 K?
nryhthFk nyhi ¥ = 159x6 = 954
choice : d

23/40 + 3%/625 —42%/320

= 23/8x5 +3%/25x5 — 423/64x5
= 2x23/5 + 3x53/5 — 42x43/5

= (4+15-16)3/5.=3/5

choice: C

ZBAE =58°
£ACB + ZABC + ZBAE =180

/ABC =57°
choice: C
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0
112. $kgd tisgugG = —Xar
i gug 360

_ 240,22 4ox42 = 3696

360
choice: b
113. MIfsid Neuk ehlfsd
vzziFif vzziFif
8 9 28
12 7 ?
8 9

X=—X=x28=24
12 7
choice : d

114. €rR = kingk - ki n kjgG
kin kjigéG =3.84-2.46 =1.38
choice: a

115. A:B:C=2:4:6=1:2:3
vdNt Nfh=zgfs x, 2x, 3x vdf

A+B+C=180
X+2X+3x=180=x =30

vdNt Nfh=zqgfs 30° ,60°, 90°

choice : a
116. X=2++/3
E_ 1
X 2+4/3
11 x2_\/§:2—\/§
X 2+43 2-4/3

SUCCESS ACADEMY
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=(2+J§+2—J§)(2+J§—2+J§
=4(24/3) =843

choice: b

117. njhayT =61§=18T5 > Neuk=2l=3—7

15 15
185
3 ) 185 15

NtefFk =———F = X— = 25fk/k=z|
(37} 3 37
15

choice : a

FwgG : i IFFwgGFfs mid
tilfs jtwhdjhFk

118. choice: b

SUCCESS ACADEMY
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